Is this always, sometimes or never true?

'The total length of all someone’s fingers is the same as the length of one of their
arms.’

Your will need to complete this more than once therefore using more than one person
(you can use yourself as a person to measure)

Middle
Finger:
Ring finger:
First finger:
Little finger;
Thumb:

Total length of fingers and thumbs:
Thumb +
First finger +
Middle finger +
Ring finger +
Little finger + = cm
Length of arm (shoulder to wrist): cm

Which is longer?




